INTERVALOS

Ejemplo:
Operacion
AJB donde A:[—3,l) y B :[_1,3), Resultado AUB 2[_3,3)
AUB
) ® o
Ej. B
P o . .,
. A S Solucion | Sitio para la solucién
% 5 4 3 2 1 0 1 2 3 4 5
Calcula:
Operacion
AN B donde A:[—3,1) y B:[—1,3).
Resultado | 4~ B =
A.
Soluciéon ANB=
% 5 4 3 2 1 0 1 2 3 4 5 6
AU B donde A:(—3,4) y B:[—I,S].
Resultado | 4 B =
B.
Soluciéon AUB=
% 5 -4 3 -2 -1 0 1 2 3 4 5 6
AN B donde A:(—3,4) y B:[—I,S].
Resultado | 4~ B =
C.
Soluciéon ANB=
% 5 -4 3 -2 -1 0 1 2 3 4 5 6
AUB y AnB donde A:(—4,2) y B=[-1,2].
AUB=
Resultado
ANB=
D.
AUB=
Solucion
ANB=
% 5 4 3 2 1 0 1 2 3 4 5 6
AUB y ANnB donde 4=(-6,0) y B=[0,2].
AUB=
Resultado
ANB=
E.
AUB=
Solucion
% 5 4 3 2 1 0 1 2 3 4 5 & ANB=
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IUJUK y INnJNK donde
I=(,5], J=[2,5) y K=(-2,3]. TUJUK =
Resultado
INnJNK=
F.
TUJUK=
Solucion
INJNK=
6 5 -4 -3 -2
IUJUK y INnJNK donde
1=[-1,0), J=[0,3) y K=(2,4). Resultado TOJUK =
INnJNK=
G.
TuJuUK=
Solucion
INnJNK=
5 5 4 a3 o
(IuJ)NK y (InJ)UK donde
ITOJ)NK =
1=Q.5], J=(3.6] y K =[0.3]. resuttage | 270
1 JyJK—
H.
IUJ)NK =
Solucion
1 JyJK:
% 5 -4 -3 -2
(IVJ)NK y (InJ)UK donde
I K=
I=(-4,0], J=(-1,2] y K =[1,3]. Resultado VJ)0
1 JyJK:
L
TUJ)NK =
Solucion
1 J%JK—
% 5 -4 -3 -2
IUJUK y INnJNK donde
I1=[-12], J=E(1:3 K=FE(2,2). I K=
[ ’ ]' (9 )y ( ’ ) Resultado VI
INJNK=
J.
. TOUJUK =
Solucion
INnJNK=
% 5 -4 -3 -2
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